
MATHS

BOOKS - MTG WBJEE MATHS (HINGLISH)

BINOMIAL THEOREM

Wb Jee Workout Category 1 Single Option Correct Type 1 Mark

1. If the sum of the coefficients in the expansion of  is 1024, then

the greatest coefficient in the expansion is

A. 

B. 

C. 

D. None of these

Answer: A

(p + q)n

10C5

10C4

10C2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_fQMF0qcUFgAh


Watch Video Solution

2. The number of terms in the expansion of 

are

A. 8

B. 7

C. 9

D. 50

Answer: C

Watch Video Solution

[(x + 2y)4 × (x − 2y)4]
2

3. The terms independent of  in  is

A. 6

B. 8

x ( x2 − )
93

2

1

3x

https://dl.doubtnut.com/l/_fQMF0qcUFgAh
https://dl.doubtnut.com/l/_eR8azSbIaTnE
https://dl.doubtnut.com/l/_ZvBbjw86xsm1


C. 5

D. 7

Answer: D

Watch Video Solution

4. Middle term in the expansion of  is 

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

(1 + x)4n ( ∀n ∈ N)

(2n + 1)th

2nth

(2n − 1)th

https://dl.doubtnut.com/l/_ZvBbjw86xsm1
https://dl.doubtnut.com/l/_VlZF8zfsiloH


5. If the binomial coefficient of  term and  term in the

expansion of  are equal, then the value of  equals

A. 6

B. 5

C. 7

D. 8

Answer: C

Watch Video Solution

(2r + 4)th (r − 2)th

(1 + x)21
r

6. Given positive integers rgt1,ngt2 and the cofficients of (3r)^(th )

(r+2)^(th) (1+x)^(2n)` are equal then, which of

the following relation is correct?

A. 

B. 

and

term ∈ the expansionof

n = 3r

n = 2r + 1

https://dl.doubtnut.com/l/_wdxhwhX3UP13
https://dl.doubtnut.com/l/_AsPfs5pwVWMu


C. 

D. 

Answer: D

Watch Video Solution

n = 2r − 1

n = 2r

7. If the sum of the coefficient in the expansion of 

 is equal to the sum of the coefficient of the 

expansion of , then  =

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

(αx2 − 2x + 1)
35

(x − αy)35
α

−1

1

0

https://dl.doubtnut.com/l/_AsPfs5pwVWMu
https://dl.doubtnut.com/l/_P5iCQQ0fEmuC


8. The vaule of  is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

n− 1

∑
r= 0

(
Cr

nCr + nCr+ 1

n(n + 1)

2

n + 1

n − 1

n + 1

2

n

2

9. If  then  equals

A. 

B. 

C. 

an =
n

∑
r= 0

,
1

nCr

n

∑
r= 0

r

nCr

an + 1

an − 1

an

https://dl.doubtnut.com/l/_P5iCQQ0fEmuC
https://dl.doubtnut.com/l/_6waxnyAqCO0G
https://dl.doubtnut.com/l/_vKgUuFE46Lur


D. 

Answer: B

Watch Video Solution

2an

10. Number of terms in the expansion of  is

A. 50

B. 51

C. 100

D. 102

Answer: D

Watch Video Solution

(1 − x)51(1 + x + x2)
50

https://dl.doubtnut.com/l/_vKgUuFE46Lur
https://dl.doubtnut.com/l/_EGQ39zo10gbF


11. The expression 

 is a polynomial of degree

A. 15

B. 7

C. 6

D. 5

Answer: B

Watch Video Solution

[x + (x3 − 1) ]
5

+ [x − (x3 − 1) ]
5

1
2

1
2

12. Find the two consecutive terms in the expansion of  so that

the coefficients of powers of x are equal.

A.  terms

B.  terms

C.  terms

(3 + 2x)
74

30th and 31st

29th and 30th

31st and 32nd

https://dl.doubtnut.com/l/_sm4t47LwQlWT
https://dl.doubtnut.com/l/_Z0LmqtyYWLbO


D.  terms

Answer: A

Watch Video Solution

28th and 29th

13. Find the coefficient of  in the expansion of 

A. 330

B. 990

C. 900

D. 895

Answer: B

Watch Video Solution

x4 (1 + x + x2 + x3)
11

https://dl.doubtnut.com/l/_Z0LmqtyYWLbO
https://dl.doubtnut.com/l/_076n3Axs6wuP


14. The coefficient of 
 in the expansion



 is
 
 b. 
 c. 
 d.

none of these

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x53

100

∑
m= 0

^ (100)Cm(x − 3)100 −m2m ^ 100C47 ^ 100C53 −100C53

100C53

101C53

−100C53

100C48

15. The middle term in the expansioin of  is

A. 

B. 

C. 

(1 + x)2n

2. nCn

2n
1.3.5….... (2n − 1)

n !

2.6.10…...(4n − 2)

https://dl.doubtnut.com/l/_5C5QYGPDwfid
https://dl.doubtnut.com/l/_5cku8X9MZMFG


D. None of these

Answer: B

Watch Video Solution

16. If in the expansion of  denotes the coefficient of  then

prove that 

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

(1 − x)2n− 1
ar xr

ar− 1 + a2n−r = 0

−1

1

0

https://dl.doubtnut.com/l/_5cku8X9MZMFG
https://dl.doubtnut.com/l/_Hxr4pChwyDnt


17. In the expansion of  the coefficient of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(1 + x + x2 + ...∞)
3

xn

−3

3

9

−9

18. If the magnitude of the coefficient of  in the expansion of 

, where  are positive numbers,is equal to the

magnitude of the coefficient of  in the expansion of ,

then  are connected by the relation

A. 

B. 

x7

(ax2 + )
8

1

bx
a, b

x− 7 (ax + )
81

bx2

a and b

ab = 1

ab = 2

https://dl.doubtnut.com/l/_ymJPAaTMNbFk
https://dl.doubtnut.com/l/_my9CFJK89P4O


C. 

D. 

Answer: A

View Text Solution

a2b = 1

ab2 = 2

19. The sum of the coefficients of the first 10 terms in the expansion of

 is

A. 220

B. 286

C. 120

D. 150

Answer: A

Watch Video Solution

(1 − x) − 3

https://dl.doubtnut.com/l/_my9CFJK89P4O
https://dl.doubtnut.com/l/_bBqXp5fW8fTg
https://dl.doubtnut.com/l/_5fDIBCe7t8Q1


20. The coefficient of  in , is

A. 252

B. 

C. 

D. 

Answer: C

Watch Video Solution

x− 10 (x2 − )
10

1

x3

−210

120

150

21. If  denote the binomial 

coefficients in the expansion of  , then . 

A. 

B. 

C. 

C0, C1, C2, ..., Cn

(1 + x)
n

1. C1 − 2. C2 + 3. C3 − 4. C4 + ... + ( − 1)
n− 1

nCn =

n. 2n− 1

(n + 1)2n− 1

(n + 1)2n

https://dl.doubtnut.com/l/_5fDIBCe7t8Q1
https://dl.doubtnut.com/l/_FcQyYWbGokpB


D. 

Answer: A

Watch Video Solution

(n + 2)2n− 1

22. Find a if the coefficient of  in the expansion of 

are equal

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 and x3 (3 + ax)9

3/7

7/3

7/9

9/7

https://dl.doubtnut.com/l/_FcQyYWbGokpB
https://dl.doubtnut.com/l/_C4Aw1U4x6j6d


23. If in the expansion of , the sum of  and  terms is 0,

then th e values of =

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(a − 2b)n 5th 6th

a/b

n − 4
5

2(n − 4)

5

5

n − 4

5

2(n − 4)

24. Find the sum of the last 30 coefficients in the expansion of 

when expanded in ascending powers of 

A. 

B. 

C. 

(1 + x)59,

x.

259

258

230

https://dl.doubtnut.com/l/_JeQqJMqECal7
https://dl.doubtnut.com/l/_MEuTjjeFEae4


D. 

Answer: B

Watch Video Solution

229

25. If 
 find the value of 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(1 − x + x2)
n

= a0 + a1x + a2x
2 + + a2nx

2n,

a0 + a2 + a4 + + a2n.

3n +
1

2

33n −
1

2

3n − 1
2

3n + 1
2

https://dl.doubtnut.com/l/_MEuTjjeFEae4
https://dl.doubtnut.com/l/_ZbULEo5c2v8I


26. If A and B are coefficients of  in the expansions of 

 respectively, then A/B is equal to

A. 4

B. 2

C. 9

D. 6

Answer: B

View Text Solution

xn

(1 + x)2n and (1 + x)2n− 1

27. If  is an integer and  then  is divisible

by

A. 

B. 

C. 

n > 1 x ≠ 0, (1 + x)n − nx − 1

nx3

n3x

x

https://dl.doubtnut.com/l/_oHApg404N0xx
https://dl.doubtnut.com/l/_LHOn6X9NDsE7


D. 

Answer: C

Watch Video Solution

nx

28. Let the coefficients of powers of  in the  terms in the

expansion of , where  is a positive integer, be in arithmetic

progression. Then the sum of the coefficients of odd powers of  in the

expansion is

A. 32

B. 64

C. 128

D. None of these

Answer: B

Watch Video Solution

x 2nd, 3rd and 4th

(1 + x)n n

x

https://dl.doubtnut.com/l/_LHOn6X9NDsE7
https://dl.doubtnut.com/l/_0qW3ubXGcjGC


29. Let . 


If  then  is equal to

A. 4

B. 8

C. 16

D. 32

Answer: B

Watch Video Solution

(1 + x)
10

=
10

∑
r= 0

crx
r and (1 + x)

7
=

7

∑
r= 0

drx
r

P =
5

∑
r= 0

c2r and Q =
3

∑
r= 0

d2r+ 1,
P

Q

30. The coefficient of  in the expansion of 

 is

A. 

B. 

x10

1 + (1 + x) + … + (1 + x)20

19C9

20C10

https://dl.doubtnut.com/l/_fEgeA1RgH0ST
https://dl.doubtnut.com/l/_ZW1iaOzszqMi


Wb Jee Workout Category 2 Single Option Correct Type 2 Marks

C. 

D. 

Answer: C

Watch Video Solution

21C11

22C12

1. The sum of the series  is equal

to

A. 

B. 

C. 

D. 

Answer: A

1 + nC1 + nC2 + …. + nCn

1

2

1

3

1

n + 1

2n+ 1 − 1
n + 1

3(2n − 1)

2n

^
2n + 1
n + 1

2n + 1
2n

https://dl.doubtnut.com/l/_ZW1iaOzszqMi
https://dl.doubtnut.com/l/_lyF3TAtLeDSc


Watch Video Solution

2. If  denote the 

binomial coefficients in the expansion of  , then 

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

nC0, nC1, ..., nCn

(1 + x)n and p + q = 1

n

∑
r= 0

nCrp
rqn−r =

2n

2n− 1

0

3. The  term from the end in the expansion of  is

A. 

4th ( − )
7

x3

3

3

x2

315x

https://dl.doubtnut.com/l/_lyF3TAtLeDSc
https://dl.doubtnut.com/l/_oh7J3XI4fN1A
https://dl.doubtnut.com/l/_rMroGQMrilKJ


B. 

C. 

D. None of these

Answer: C

Watch Video Solution

21x

105x

4. If

then  must be equal to (A) 20,21 (B)21,22 (C)22,23 (D)none of these

A. 20, 21

B. 21, 22

C. 22, 23

D. None of these

Answer: B

{(1 + √2x + 1)
n

− (1 − √2x + 1)
n
} = a0 + a1x + a2x

2 + .....
1

√2x + 1

n

https://dl.doubtnut.com/l/_rMroGQMrilKJ
https://dl.doubtnut.com/l/_9TyIbwgMTdOT


Watch Video Solution

5. The middle term in the expansion of  is

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

(1 − 3x + 3x2 − x3)
2n

xn
(6n) !

(3n) !(3n) !

x3n(6n) !

(3n) !

( − x)
3n(6n) !

(3n) !(3n) !

6. Let m,  N and , for  


Statement-1: 

 

∈ Cr = nCr 0 ≤ r ≤ n

C0 + C1 + C2 + … + Cn

1

m !

n

(m + 1) !

n(n − 1)

(m + 2) !

n(n − 1)(n − 2)….2.1

(m + n) !

=
(m + n + 1)(m + n + 2)…(m + 2n)

(m + n) !

https://dl.doubtnut.com/l/_9TyIbwgMTdOT
https://dl.doubtnut.com/l/_ib39RswQc4x8
https://dl.doubtnut.com/l/_19KjvdqYR1Mb


Statement-2: For r 0 

.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

≤

mCr
nC0 + mCr− 1

nC1 + mCr− 2
nC2 + ... + mC0

nCr = m+nCr

(m + n + 1)(m + n + 2)…(m + 2n)

(m + n) !

m+nCn

(m+nCn)
1

(m + n) !

0

7. Write the remainder obtained when 1! + 2! + 3! + ..... + 200! is divided by

14

A. 3

B. 4

C. 5

https://dl.doubtnut.com/l/_19KjvdqYR1Mb
https://dl.doubtnut.com/l/_20lDA5cPcDaF


D. None of these

Answer: C

Watch Video Solution

8. The total number of terms in the expansion of ,

if similar terms are taken together are

A. 51

B. 53

C. 54

D. 52

Answer: D

Watch Video Solution

(x + 2)102 + (x − 2)102

https://dl.doubtnut.com/l/_20lDA5cPcDaF
https://dl.doubtnut.com/l/_fNT5lkp4sqQ9


9. The greatest integer less than or equal to  is

A. 198

B. 197

C. 196

D. None of these

Answer: B

Watch Video Solution

(√2 + 1)
6

10. In the expansion of , the sum of coefficients of odd powers

of  is

A. 

B. 

C. 

D. 

(1 + x)70

x

0

269

270

272

https://dl.doubtnut.com/l/_QF0yES2PCtqA
https://dl.doubtnut.com/l/_tsF4sQLytRNr


Answer: B

Watch Video Solution

11. Number of irrational terms in the expansion of  are

A. 54

B. 61

C. 30

D. 31

Answer: A

Watch Video Solution

( 5√2 + 10√3)
60

12. If the co-efficient of  in 

 is  then n equals

x100

1 + (1 + x) + (1 + x)2.......... + (1 + x)n 201C101

https://dl.doubtnut.com/l/_tsF4sQLytRNr
https://dl.doubtnut.com/l/_vkNcBWBNi4i8
https://dl.doubtnut.com/l/_PHGzwIDQMpG9


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

202

100

200

201

13. If  then 

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

Sn =
n

∑
r= 0

and
n

∑
r= 0

,
1

nCr

r

nCr

=
tn

Sn

n

2

n(n + 1)

2

n + 1

2

https://dl.doubtnut.com/l/_PHGzwIDQMpG9
https://dl.doubtnut.com/l/_eX9ZfdY6qcCp


14. If  then prove that 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(1 + x)n =
n

∑
r= 0

Crx
r

C1 + 2C2 + 3C3 + .... . + nCn = n2n− 1

n. 2n

(n + 1).2n

n.2n− 1

n.2n+ 1

15. If , then  equals

A. 

B. 

x + y = 1
n

∑
r− 0

rnCrx
ryn−r

1

n

https://dl.doubtnut.com/l/_eX9ZfdY6qcCp
https://dl.doubtnut.com/l/_b4WlFaCTwQgV
https://dl.doubtnut.com/l/_4p9q7s3P5BP6


Wb Jee Workout Category 3 One Or More Than One Option Correct Type 2

Marks

C. 

D. 

Answer: C

Watch Video Solution

nx

ny

1. If 
occurs in the expansion 
 , then the coefficient of 

is
 
 b. 
 c. 
 d. none of

these

A. 

B. 

C. 

D. None of these

xn (x + 1/x2)
n

xm

(2n) !

(m) !(2n − m) !

(2n) !3!3!

(2n − m) !

(2n) !

( ) !( ) !2n−m

3
4n+m

3

(4n) !

( ) !. ( ) !4n−m

3
8n+m

3

(4n) !

n !(4n − m) !

(4n) !3!3!

(4n − 3) !

https://dl.doubtnut.com/l/_4p9q7s3P5BP6
https://dl.doubtnut.com/l/_eSM4h0wQoPQB


Answer: A

Watch Video Solution

2. If the coefficient of  in the expansion of 

 is , then a divisor of  is

A. 2

B. 3

C. 5

D. 7

Answer: B::C::D

Watch Video Solution

x8

(1 + + + + )
2

x2

2!
x4

4!

x6

6!

x8

8!

1

M
M

3. If the coefficients of the rth, 
 terms is the

expansion of 
are in A.P, then the largest value of 
is.

(r + 1)th, (r − 2)th

(1 + x)
14

r

https://dl.doubtnut.com/l/_eSM4h0wQoPQB
https://dl.doubtnut.com/l/_biGNQcJMuT6c
https://dl.doubtnut.com/l/_Qewgp831Wx26


A. 15

B. 1

C. 9

D. 5

Answer: C::D

Watch Video Solution

4. Numerically the longest term in the expansion of , when 

 is

A. 

B. 

C. 

D. None of these

Answer: A::C

(3 + 2x)50

x =
1

5

6th

8th

7th

https://dl.doubtnut.com/l/_Qewgp831Wx26
https://dl.doubtnut.com/l/_zEpDMLckfcwa


Watch Video Solution

5. If  are binomial coefficients, then 

 equals

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

C0, C1, C2, …, Cn

n

∑
k= 0

Ck sinkx cos(n − k)x

2n sinnx

2n+ 1 sin(n + 1)x

2n− 1 sinnx

2n+ 1 sinnx

6. The range of values of the term independent of x in the 

expansion of is

A. 

(x sin− 1 α + )
10

, a ∈ [ − 1, 1]
cos − 1 α

x

[1, 2]

https://dl.doubtnut.com/l/_zEpDMLckfcwa
https://dl.doubtnut.com/l/_53BT4PZbY2bz
https://dl.doubtnut.com/l/_wWgjTqOIkLbV


B. 

C. 

D. 

Answer: D

Watch Video Solution

(1, 2)

[ , ]
10C5π

2

220

−10C5π
2

25

[ , ]
−10C5π

10

25

10C5π
10

220

7. the value of 
 , for which the 6th term in the expansions of


 , is equal to
 a. 4 b. 3

c. 
d. 

A. 0

B. 1

C. 2

D. 3

Answer: B::C

x

⎡

⎣
2log _ 2√9 ( x− 1 ) + 7 +

⎤

⎦
is84

1

2 (log)2(3r− 1 + 1)
1
5

2 1

https://dl.doubtnut.com/l/_wWgjTqOIkLbV
https://dl.doubtnut.com/l/_5UW29BOyg7ak


Watch Video Solution

8. The value of x, for which the ninth term in the 

expansion of  


is 450 is equal to

A. 

B. 

C. 

D. 

Answer: B::D

Watch Video Solution

⎧
⎨⎩ + x. x

⎫
⎬⎭

10

√10

(√x)
5 log10 x

1
2 log10 x

10

100

10− 1 / 5

10− 2 / 5

9. If , then(1 + 2x + 3x2)
10

= a0 + a1x + a2x
2 + … + a20x

20

https://dl.doubtnut.com/l/_5UW29BOyg7ak
https://dl.doubtnut.com/l/_BN1ELQjskgEO
https://dl.doubtnut.com/l/_PJhUc9lDz0ag


A. 

B. 

C. 

D. .

Answer: A::B::C

Watch Video Solution

a1 = 20

a2 = 210

a4 = 8085

a20 = 22 × 37 × 7

10. The value of , where  denotes 

, is

A. 

B. greater than 

C. 

D. greater than 

7

∑
k= 0

⎡
⎢
⎢
⎢
⎢
⎣

14

∑
r=k

(
r

k
)(

14

r
)

⎤
⎥⎥⎥⎥
⎦

(
k

k
)

(
14

k
)

(
n

r
)

nCr

67

76

87

78

https://dl.doubtnut.com/l/_PJhUc9lDz0ag
https://dl.doubtnut.com/l/_q1Mwhz5WhK9q


Wb Jee Previous Years Questions Category 1 Single Option Correct Type 1

Mark

Answer: A::B

View Text Solution

1. The number of solutions of the equation  in positive

integers  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x + y + z = 10

x, y, z

36

55

72

45

https://dl.doubtnut.com/l/_q1Mwhz5WhK9q
https://dl.doubtnut.com/l/_6QSwxn3JB1Q7
https://dl.doubtnut.com/l/_FtH3z5NdB4KG


2. Let  be a positive even integer. The ratio of the largest coefficient and

the  largest coefficient in the expansion of  is  Then

the number of terms in the expansion of  is

A. 20

B. 21

C. 10

D. 11

Answer: B

Watch Video Solution

n

2nd (1 + x)n 11: 10.

(1 + x)n

3. The value of sum  is

A. 

B. 

C. 

(nC1)2 + (nC2)2 + (nC3)2 + … + (nCn)2

(2nCn)
2

2nCn

2nCn + 1

https://dl.doubtnut.com/l/_FtH3z5NdB4KG
https://dl.doubtnut.com/l/_jMvL7HJoLVeb


D. 

Answer: D

Watch Video Solution

2nCn − 1

4. If the coefficient of  in  is equal to the coefficient of 

 in , then a and b will satisfy the relation

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x8 (ax2 + )
13

1

bx

x− 8 (ax − )
131

bx2

ab + 1 = 0

ab = 1

a = 1 − b

a + b = − 1

https://dl.doubtnut.com/l/_jMvL7HJoLVeb
https://dl.doubtnut.com/l/_P0TFjcHsAZsV


5. The coefficient of  in the infinite series expansion of ,

for , is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x3 2

(1 − x)(2 − x)

|x| < 1

−1/16

15/8

−1/8

15/16

6. The sum of the series  is

A. 

B. 

C. 

∞

∑
n= 1

sin( )
n !π

720

sin( ) + sin( ) + sin( )
π

180

π

360

π

540

sin( ) + sin( ) + sin( ) + sin( )
π

6

π

30

π

120

π

360

sin( ) + sin( ) + sin( ) + sin( ) + sin( )
π

6

π

30

π

120

π

360

π

720

https://dl.doubtnut.com/l/_wbagckeJZsNf
https://dl.doubtnut.com/l/_KyYGJ2WpAGrU


D. 

Answer: C

Watch Video Solution

sin( ) + sin( )
π

180

π

360

7. Number of irrational terms in the binomial expansion of

 is

A. 90

B. 88

C. 94

D. 95

Answer: C

Watch Video Solution

(31 / 5 + 71 / 3)
100

https://dl.doubtnut.com/l/_KyYGJ2WpAGrU
https://dl.doubtnut.com/l/_WeDghcV8LP0R


8. In the expansion of , the coefficient of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(x − 1)(x − 2)…(x − 18) x17

684

−171

171

−342

9. If  equals

A. 

B. 

C. 

D. 

1 +n C1 cos θ +n C2 cos 2θ + ....... . +n Cn

(2 )
ncos(θ)

2

cos(nθ)

2

2
cos2(nθ)

2

2
cos2n(θ)

2

2
cos2(θ)

2

https://dl.doubtnut.com/l/_C0R8H6Kg4Gvm
https://dl.doubtnut.com/l/_t2B2NQU1qePo


Answer: A

Watch Video Solution

10. Let . Then

A. . Then

B.  is even

C.  is divisible by 

D.  is divisible by  but not by 9

Answer: B

Watch Video Solution

(1 + x + x2)
9

= a0 + a1x + a2x
2 + .... . + a18x

18

a0 + a2 + …. . + a18 = a1 + a3 + …. + a17

a0 + a2j + …. + a18

a0 + a2 + … + a18 9

a0 + a2 + …. + a18 3

11. The number  -1 is divisible by

A. 

101100

104

https://dl.doubtnut.com/l/_t2B2NQU1qePo
https://dl.doubtnut.com/l/_laSXE8h9WJhu
https://dl.doubtnut.com/l/_T2or9y4A5757


B. 

C. 

D. 

Answer: A

Watch Video Solution

106

108

1012

12. If 
 is an even positive integer, then find the value of 
 if the greatest

term in the expansion of 
^n may have the greatest coefficient also.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

n x

1 + x

< x <
n

n + 2

n + 2

n

< x <
n

n + 1

n + 1

n

< x <
n + 1

n + 2

n + 2

n + 1

< x <
n + 2

n + 3

n + 3

n + 2

https://dl.doubtnut.com/l/_T2or9y4A5757
https://dl.doubtnut.com/l/_XpfbOqlpTC9A


13. The number of irrational terms in the expansion of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(31 / 8 + 51 / 4)
84

73

74

75

76

https://dl.doubtnut.com/l/_XpfbOqlpTC9A
https://dl.doubtnut.com/l/_gJP6bMjWPpLe

